Limiting Reagent

This animation focuses on the reaction between nitric oxide (NO) and oxygen gas to produce nitrogen dioxide.

2 NO (g)  +  O2 (g)  (  2 NO2 (g)

The animation starts with a two bulb vessel.  You will have three choices for this animation:  1) reacting 4 molecules of NO with 4 molecules of O2, 2) reacting 6 molecules of NO with 3 molecules of O2, and 3) reacting 6 molecules of NO with 2 molecules of O2.  For each choice, NO (g) appears in the left bulb and O2 (g) appears in the right bulb.  The valve separating the two bulbs is opened allowing the gases to mix.

1)
Reacting 4 molecules of NO with 4 molecules of O2

In this animation, NO is the limiting reagent.  2 molecules of O2 remain in excess and 4 molecules of NO2 are produced.

2)
Reacting 6 molecules of NO with 3 molecules of O2

This animation has the correct stoichiometric ratio between NO and O2.  6 molecules of NO2 are produced.

3)
Reacting 6 molecules of NO with 2 molecules of O2

In this animation, O2 is the limiting reagent.  2 molecules of NO remain in excess and 4 molecules of NO2 are produced.

